Efficiency vs Dxy(PV)
1.2

iy

o
)

efficiency vs dxy(PV)

o
o

o
»

5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__mkFit10000__RECO
—— DQM_V0001_R000000001__Global__mKkFit1000__RECO
[Efficienc]| —— DQM_v0001_R000000001_Global__mKkFit1000ATime__RECO

o
©

efficiency vs dxy(PV.

o
ey

o
IS
H

| \HHH’“W'\’HHHI\\\H\EMEIH }
il T all
0.4-0.2 0 02040608 1

TP dxy(PV) '(cm)

[=

"=1-0.8-0.

|

Efficiency vs Dz(PV)
1.

< [ . . .
g [ : : :
§ f : :
4 SRR P AT S EEETD [,
> I . .
g f oWl
& 08p-eeees '.i e
s I : : :
b= r N N H
15} o . .
0.6 e eeeeees R R
0.4 N SRreh FER
0.2f--e e P ErEE Feeens
[ i i | i i
o9 '
5 :
@ .
h-e-- e PEERR B e L .-
°¥p 20 10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

s 1 :
g :
5 :
i e
> :
5 08 O
QO :
s N |
0.6 : T
0.4 :
ol b
2 :
L |||Il:.||||| 2
L
0T 05 0




	Contents
	Page 1


